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That they reversed it — 9% TBNT

OVERVIEW

X995 17 explained that the second Xn»13, which stated that the 97w 2901 7)
V"oynon are WY, is discussing where their W97 was 1wn (the dog and 73
respectively reversed their manner of jumping), therefore the are w"in 1Pw5 and
are 211 only a 1"n. Our Md01N explains why they are (still) not 217 a w"1.

nvoIn asks:
= (2N ] DN I1I9YDI DYV INYIND Lapan INNIY 9NN ON)

And if you will say according to the one who maintains that if initially he was

negligent, but ultimately the damage was accidental, nevertheless [he is liable] -
- ZM9IN INDT DN 19YDY INNINT AW INIINNT DYV P AMny

Let him be liable for a w'1 in this case of 751 7°9X, for initially the owner was a
yw1o for allowing the >731 295 to be on a place where they can jump down and do
damage in a natural way, and it ended in an 221X since they jumped in an unusual
manner, but if we maintain 013X 19101 7Y°wd2 150N is 20 he should be 271 here as well!

N1B0IN answers:
- *19 5235 BYY 71 2NY Y39 5239 NYWHL INTINNT DIV IR YT 9115 U

And one can say; that the X3 never said that on account of my"ws2 Inbnn

regarding 237 he should be liable to pay a @"1 regarding 3 -
= P13 28N NN 1990 1NN XY 197 1399 995 Y9 199aNT

For even one who is totally negligent regarding 399, nevertheless the 79\n did
not obligate him to pay a v"1 but rather only a 2" —

" See 2,83, where the X»3 argues that if the 293 fell off the wall he should still be K2 19101 7w*wd3 IN2AN 712 27N
2, since we look at the 7¥°woa 1n7nn that he was on the roof and could have jumped off (in which case he would
be 2m7). Similarly here the fact that he allowed the >3 275 to be in a situation where they can be 3?71 in a normal
way is my°w92 1n°nn and he should be 21 (a w"1) even though that 0112 1D.
2 mpoin (in the question) assumed that the 2°°17 D182 19D 7Y*WD2 21N 7" maintains that we do not look at the 1910
012, but rather on the 7y*woa nonn, and since the 7v°wo2a n»nn in this case would make him liable for a w"1,
therefore the 011X2 1910 should be discounted and he should pay a w"1. See following footnote # 3.
? The concept of 0182 1910 7¥*wH2 N9MN is that we look at the 11X 1910 which caused the damage as if it occurred
7ywoa. In our case we view the unnatural 212°7 of the »731 293 as if they were done 773°w91 and so they have to pay a
1"n (which is what "1 maintains). 121 73°w92 210 does not mean that if the 7y°ws was by 731 (jumping down in a
normal fashion) and the 01X was by 177 (jumping down in an unusual manner), the rule is that it is considered 2.
The damage was done by 177 so it cannot be considered 237; at most it can be considered as if the j77 was done
nvowo3a, but it still remains 17p.
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mooIn proves his point that 37 %232 7¥°wo2 1NN cannot be 21 a 1P 2% Wi
- D5Y P 29NY *9aNY 990) PN TN DIFIY N 991 INY INT

For if this is not true (but rather a 937 °23% 7v°w92 N>nN can be 2°nn a v
regarding 1772 1910), so if a lion entered the P27 9% and was n9v and ate, he

should pay a w'"'1 -
- 19597 1399 DY Waa MYINNT

Since when he entered the P17 131 it was p°ws3a 1n» 10 regarding 179777 -
1939 )W 1YY DYV INTINN PN I8N 1P 93 199
And similarly any 97 which damages pr37 92n2 should be considered In%mn

myowoa regarding damages of %371 J@ that it could have done pra7 1¥n2, but nevertheless
P1°17 7X¥n2 1P pays only a 1"n. This proves that 01182 19107 7Y°wo2 12N does not allow us to cross
the line between the 1"11 of 177 and the w"1 of 2" Ww.

SUMMARY

The one who maintains D182 1910) 7¥°W9H2 INPNN is 2°°m, because we consider as if
the o1 happened 7y°ws2, but we do not consider it as if the damage was caused by
the original ny°wd. The 1y w92 1n>nn of 237 does not change the 01X 1910 of 7P to
pay a w"1; only a 1"m.

THINKING IT OVER

What would be in a case where it is w52 \nonn by 172 (for a 1"n) and 01IR2 190
by "W (for a w"1); would he pay a 1"n or a w"1 according the 7" that X"201921n0 is
2717°

* %52%1 770 means he first killed the 72 and then ate it. This is unusual for a lion who is %231 017 it eats its prey
while it is still alive. See the X723 previously on 2,70
> The owner is liable for allowing his lion to enter the p1°377 2xn, where the lion could have been 311 0717 (which is
TN 0D Jw, by a lion).
6 See 7m0 waon WK # 13
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